TR 16 E

B L CIE DK,
5 BB — COD#EE! |A(##BrIA) MILTEE (ZOMOXE)
i St.1 |ZFR-$#EH T HHR) Lk E R EREE (=)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 22.5 21.4 — 14.5 4.0 BE xE-h mR
78 BEh 30.2 25.8 — 15.5 7.0 BE xE-h |
98 £ 33.0 27.0 — 14.0 3.0 BE xE-h |
11 BlEE—mmn| 193 21.1 - 8.5 5.0 BE ZE-mh mR
18 BEh 10.2 16.0 — 15.5 5.0 BE k- &R
3A|En®EEY| 9.3 12.0 - 15.5 5.0 BE  ([Eif-th| #ES
4FRRIFER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 F | 20LLF | 1000LLF | JEEH 0.3LLF | 0.03LLF
EE(75%1E) - 8.0 1.5(1.7) - <0.5 0.21 0.014
58 == 8.2 8.9 2.2 - <05 0.30 0.008
hE - - - - - - -
78 == 8.3 7.7 15 - <0.5 0.14 <0.003
= 8.2 7.7 1.7 - <0.5 - -
SR hE - - - - - - -
118 == 8.3 8.3 1.6 - <0.5 0.11 0.024
hE - - - - - - -
1A == 8.2 7.6 0.8 - <0.5 0.29 0.021
= 8.2 7.9 1.2 - <0.5 - -
38 i -~ = - — — — —
BEIEE (REDHEHAD
IS INESS S ) ANfivoL| ®ME #ikéE |[7LxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH ERH |
:F _ _ — — — — — —
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ z-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LF 0.006LLF | 0.03LLF
S'Z - - - - - - - -
58 - - - - - - - -
78 - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




TRIORRILETE s | vevy | TATY | xvey | wuy |MEERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZEqE] 001LLF [0.00250F [ 0.006LLF | 0.003LLF [ 0.02LLF [ 001LLF [ 001LLF [ 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3H - - - = — — - -
TN IFE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - ~ 2 - - -
RE - - 2 - - -
=] _ _ 1 _ _ _
=] _ _ 1 _ _ _
L e — ; : - :
=] _ _ 1 _ _ _
=] _ _ 1 _ _ _
=] _ _ 3 _ _ _
3H o - - 3 - - -
Bl | BEEE | omen
(mg/1) (mg/1) (mg/1)
FEHE| 18000 - 0.02
5A RE 18000 - <0.01
= 18000 - <0.01
= 18000 - -
= 18000 - 0.02
"R Tam - -
‘A =E 17000 - 0.02
= 18000 - -
Gl 0 - =




TR 16 E

B LTI DK,
5 BB - COD#EE! |B(H#R) ML TEECGERERX)
} St.2 |22 3 - IR R I GBI ) feAKEREEE (D)
—RIEE _
KR (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 23.5 22.0 22.0 13.5 3.5 BE xE-h mR
78 BEh 31.1 28.4 27.9 12.5 3.0 BE Hixf-h| BR
98 £ 33.5 28.2 28.0 12.5 2.0 BE xE-h mR
11 BlEE—min| 200 22.0 21.8 135 35 BE xE-h mR
18 BEh 10.2 15.8 15.2 10.0 6.0 BE k- &R
3A|ENKEEY| 95 125 12.8 125 35 BE fxfh - mE
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
RElE| 1.8~83] 5.0LLE | 30LLF — R H 0.6LLF | 0.05LLF
EHIE (75%1E) - 7.7 1.7(2.0) - <0.5 0.36 0.029
58 =E 8.1 8.0 2.6 - <05 0.53 0.023
IE 8.1 8.0 2.4 - - - -
78 == 8.3 8.5 2.1 - <0.5 0.35 0.037
IE 8.3 8.5 2.0 - - - -
oF == 8.1 6.8 1.4 - <0.5 - -
IE 8.1 6.9 1.4 - - - -
115 == 8.2 8.1 1.9 - <0.5 0.23 0.031
IE 8.2 7.8 1.4 - - - -
1A == 8.2 7.6 1.2 - <0.5 0.34 0.025
IE 8.2 7.7 15 - - - -
3H == 8.1 7.1 1.0 - <0.5 - -
B 8.2 7.6 15 - - - -
BEIEE (REDHEHAD
LIS INESS S E ANE/RL| #MFE ke |7L*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-k)40] 1,1,2-ry4a | FJo0A
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fr3o00a(1,3->50 = R FrAY $u . EREERRU
TI?"/‘J oAy 7’"77.1-\ IV jJ}l/j Aoty L iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.01LLF [0.00280F [ 0.006LLF [ 0.003LLF | 0.02L8LF [ 0.01LLF 0.01LLF 10LLF
F <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
58 - - - - - - - -
7H] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
9A8 - - - - - - - -
118 - - - - - - - -
1A] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.21
38 - - - - - - - -
ZDHIFE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 2 - - -
5A ; E — — 3 — — —
— — 3 — — —
1R ; ,’: — — 3 — — —
— — ‘I — — —
9R ; E — — A — — —
— — 3 — — —
A —ag - - > - - -
ﬁlg - - 1 - - -
— — 2 — — —
3 [=]
H hE - = 3 - - -
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
EHE| 17000 0.01 0.02
58 xE 17000 - <0.01
B 17000 - -
78 E A 16000 <0.01 0.02
B 17000 - -
9K E A 16000 - -
B 17000 - -
118 E A 17000 - 0.02
B 17000 - -
18 E A 17000 0.01 0.02
hE 18000 - -
35 E A 18000 - -
i 18000 - -




TR 16 E

B L CIE DK,
5 2 BB — COD#HE! |A(R#ER) ML TEE (ZOMOXE)
i St.3 |22 - Im B I (HE ) feAKEREEE (D)
—iRIEE _
K& (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 22.5 21.2 21.4 15.0 4.5 BE xE-h |
78 BEh 31.4 27.4 26.8 145 35 BE xE-h |
98 £ 32.4 27.4 27.2 13.0 3.0 BE xE-h mR
11 BlEE—min| 200 21.2 21.4 145 45 BE xE-h mR
18 BEh 10.2 15.2 15.2 14.0 6.0 BE k- &R
3AlENEEEY] 8.1 12.4 12.3 15.0 5.0 BE | Bt #®E
4FRRIFER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83| 75LLE | 20LLF | 100051 F | JEMRiH 0.6LLF | 0.05LLF
EE(75%1E) - 7.8 1.8(2.0) 59 <0.5 0.21 0.016
58 == 8.2 8.2 2.6 - <05 0.38 0.012
IE 8.2 7.8 2.7 - - - -
78 == 8.3 7.9 2.0 110 <0.5 0.19 0.008
IE 8.3 7.7 1.3 - - - -
oF == 8.2 7.7 1.6 - <0.5 0.20 0.030
IE 8.2 7.4 1.6 - - - -
118 == 8.2 8.2 1.9 - <0.5 0.11 0.010
hE 8.3 8.1 2.1 - - - -
1A == 8.2 7.7 1.4 7.0 <0.5 0.27 0.021
IE 8.2 7.7 1.7 - - - -
3H == 8.2 7.6 1.0 - <0.5 0.10 0.014
B 8.2 8.1 15 - - - -
BEIEE (REDHEHAD
ISP INESS S & NE/RL| #MFE fikER |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
onni| migke [1,2-0900( 1,1-C4an [ zx-1,2-C4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IAaY IFLY | AaxTFLY oT4ay oT4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = NN FARY TN . WREEREY
TI?"/‘J oAy 7’"77.1-\ v jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.09
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.15
3H — — — - - - - -
ZTNDIEE
Jz/—1 i SS 2EH |(yookns 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
5H ; E — — > — — —
—_ —_ 2 —_ —_ —_
7R ; ,’: — — > — — —
—_ —_ ‘I —_ —_ —_
9H ; E — — 3 — — —
—_ —_ 2 —_ —_ —_
—_ —_ 2 —_ —_ —_
—_ —_ 2 —_ —_ —_
3 [=]
H hE - = 2 - - -
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
SEI9TE| 18000 0.04 0.01
58 E3E] 19000 - <0.01
B 19000 - -
78 AL 18000 <0.01 <0.01
th B 19000 - -
9K AL 18000 - -
B 18000 - -
118 AL 18000 - <0.01
B 18000 - -
18 AL 18000 0.06 0.02
B 18000 - -
35 xE 18000 - -
i 18000 - -




TR 16 E

B LTI HKE,
5 2 BB — COD#HE! |A(R#ER) ML TEE(ZFOMMORXE)
i St.4 |- SR 1 GEBIR) REKEREEE ()
—iRIEE _
K& (°C)
Xz %R (°C) =E e 2KE 75 B FE TR =X 2=
58 BEh 22.5 20.9 21.0 18.5 5.5 BE xE-h |
78 BEh 30.6 26.4 26.4 14.0 5.0 BE xE-h mR
98 £ 32.8 27.8 275 12.5 3.0 BE xE-h mR
11Ale2—mEn] 195 21.0 21.4 135 45 BE xE-h mR
18 BEh 10.2 16.0 16.0 135 7.0 BE k- &R
3AENkEEY| 84 12.0 12.0 14.0 55 BE | Bt #®E
4FRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
= &[] 7.8~83] 75LLE | 20LLF | 1000LLF | JEMRiH 0.3LLF | 0.03LLF
EE(75%1E) - 7.9 1.6(2.2) 55 <0.5 0.19 0.012
58 == 8.2 8.1 2.9 - <05 0.21 0.014
IE 8.2 8.5 2.2 - - - -
78 == 8.3 7.4 1.6 0.0 <0.5 0.14 0.006
IE 8.3 7.4 1.3 - - - -
oF == 8.2 75 0.9 - <0.5 - -
IE 8.2 7.1 1.7 - - - -
118 == 8.3 8.1 2.4 - <0.5 0.07 0.007
IE 8.3 8.3 2.4 - - - -
1A == 8.2 7.7 0.6 110 <0.5 0.33 0.020
IE 8.2 7.7 1.0 - - - -
3H == 8.2 8.3 1.2 - <0.5 - -
B 8.2 8.5 15 - - - -
BEIEE (REDHEHAD
ISP INESS S & NE/RL| #MFE fikER |7r*LKkER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 0.01LLTF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | FE#EH JERRH |
E <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
58 - - - - - - - -
78| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - -
38 - - - - - - - -
oani| migke [1,2-0900( 1,1-C4an [ zx-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 oxsy IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF | 0.00260F | 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
E <0.002 [ <0.0002 [ <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
58 - - - - - - - -
78] <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
9A - - - - - - - -
118 - - - - - - - -
18] <0.002 | <0.0002 | <0.0004 <0.002 <0.004 <0.10 <0.0006 <0.003
38 - - - - - - - -




Fh5400(1,3->4n0 = NN FARY TN . WREEREY
TI?"/‘J oAy 7’"77.1-\ v jJ}l/j Aoty LY iiﬁ&ﬁ;%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
o <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.08
5H - - - - - - - -
78 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.02
9H - - - - - - - -
118 - - - - - - - -
18 <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
3H — — — - - - - -
ZTNDIEE
Jx/—)L V) SS 2mR |soofns| e
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
5H ; E — — 3 — — —
—_ —_ ‘I —_ —_ —_
7R ; ,’: — — > — — —
—_ —_ <‘| —_ —_ —_
gﬁ ;E _ _ 2 _ _ —
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
—_ —_ 2 —_ —_ —_
3 [=]
H hE - = 2 - - -
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
SEI9TE| 18000 0.02 0.01
58 E3E] 18000 - <0.01
B 19000 - -
78 AL 18000 <0.01 <0.01
th B 18000 - -
9K AL 17000 - -
B 18000 - -
118 AL 18000 - <0.01
B 18000 - -
18 AL 18000 0.02 0.02
B 18000 - -
35 xE 18000 - -
i 18000 - -




TR 16 E

B L CIE KB,
5 pEap b — COD#EE! |A(##BrIA) MILTEE (ZOMMOXE)
i St.5 |ZFR-$#EH T HHR) fKE R EREE (=)
—iRIEE _
Kig (°C)
Xz %R (°C) =RE P E 2KE il iR =Xz R
58] BEh 24.0 22.0 — 9.0 4.0 BE BEixf-p| &S
78] ®Bh 30.4 26.0 — 8.0 5.0 BE ZkE-mh mR
98 £ 32.3 26.8 — 75 35 BE ZE-mh mR
11 BlEE—mmn| 195 21.0 - 9.5 5.0 BE ZE-mh mR
18] ®Bh 10.4 15.2 - 9.0 5.0 BE k- &R
3A|EnEEY| 7.8 12.0 - 6.5 35 BE  ([Eif-h| #ES
4FRRIFIER
oH DO COD |XBEHE |h-~FHUH 2L=TH EX ]
(mg/1) (mg/1) | (MPN/100ml) | EH¥IE (me/l)]  (mg/I) (mg/1)
EEME| 78~83] 755 FE | 20LLF | 1000LLF | JEEEH 0.3LLF | 0.03LLF
EE(75%1E) - 7.4 1.9(2.5) - <0.5 0.20 0.011
55 == 8.2 8.1 3.2 - <0.5 0.28 0.013
hE - - - - - - -
78 EAE 8.3 7.3 1.3 - <0.5 0.05 0.005
= 8.2 7.7 2.1 - <0.5 - -
SR B - - - - - - -
118 EAE 8.3 8.4 1.2 - <0.5 0.13 0.007
hE - - - - - - -
1A EAE 8.2 7.7 1.0 - <0.5 0.35 0.020
= 8.2 5.3 2.5 - <0.5 - -
38 i -~ = = — — — —
BEIEE (REDHEHAD
NP INESI S o) ANEivoL| #ME #ikéE |[7LxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EfE] 0.01LLF | JE#H | 0.01LLF | 0.05LLF | 0.01LLF [0.0005LLTF | JE#EH JERH |
:F _ _ — — — — — —
58 - - - - - - - -
71H - - - - - - - -
94 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -
rani| migke [1,2-0900( 1,1-C4an [ z-1,2-4(1,1,1-F)40] 1,1,2-ry4a | BJoAA
a2 o IRy IFLY |BoaIFLy (= ok 3 ox4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLF [0.00260F | 0.004LLF | 0.02ELF [ 0.04LLF 1LLF 0.006LLF [ 0.03LL'F
S'Z - - - - - - - -
58 - - - - - - - -
71H - - - - - - - -
98 - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
38 - - - - - - - -




Fh34900|1,3-4-0 — . aoo ~ TN .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.01LLF | 0.002LLF [ 0.006 LF [ 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
SF — — — — — — — —
5H - - - - - - - -
18 - - - - - - - -
9H - - - - - - - -
118 - - - - - - - -
18 - - - - - - - -
3H - - = — — - - -
ZTDHIEE
Jz/— A SS 2B |(sookL 77;'?;‘|L:\F
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
RE - - 3 - - -
- a m—— : : : -
—_ —_ ‘I —_ —_ —_
R B 2 : : -
—_ —_ 2 —_ —_ —_
i —— : : : -
—_ —_ ‘I —_ —_ —_
B L B 2 : : -
—_ —_ 2 —_ —_ —_
B 2 : : -
=] _ _ 2 _ _ _
3H g — - = - — —
Bl [ EEEE T me).
(mg/1) (mg/ 1) (mg/1)
EBIE| 18000 0.01
58 E3E] 19000 - <0.01
Q‘%E o X
18000 - <0.01
18000 - -
18000 - <001
"R Tam - - -
- %E | 18000 - 0.02
o ewm T —
18000 - -
3H i — — -




